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General Instructions :

40/1

()
(i)
(iii)
(iv)
v)
(vi)

(vii)

There are 30 questions.
All the questions are compulsory.
Questions No. 1 to 8 are multiple choice questions carrying 1 mark each.

Questions No. 9 to 14 are short answer questions carrying 2 marks each. Answer
to each of these should not exceed 50 words.

Questions No. 15 to 20 are short answer questions carrying 4 marks each. Answer
to each of these should not exceed 100 words.

Questions No. 21 to 24 are long answer questions carrying 5 marks each. Answer
to each of these should not exceed 150 words.

Questions No. 25 to 30 are long answer questions carrying 6 marks each. Answer
to each of these should not exceed 200 words.

TR 9 g1 T Ueh e & §RT YRAE Tiaa™ § gfaeifud Geaar o faam s g9
Y AT | YRA o STAH AT §RT 39 S9N i 39y 7 o T | F8t e fagiaad
& UN W YR & I=aq =i §RT 3T GNE bl 3169 KR feam 73 ?

(%h)
C))
(M
(=)

faferrga ardem =1 9q

PICaRE R DRCARESEAT
R o faareH @1 s
SMERYA 2 & a1

A constitutional amendment was passed by Indian Parliament which curtailed the
concept of ‘Federalism’ enshrined in the Indian Constitution. This amendment was
held to be invalid by the Supreme Court of India. Here, by virtue of which theory /
doctrine, the Supreme Court of India has invalidated the said constitutional
amendment ?

(@)
(b)
(©)
(d)

Principle of Natural Justice
Theory of Separation of Powers
Doctrine of Basic Structure

Principle of Legitimate Expectation
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Tt 3t et o Fardr FrTRes iaenstt & o giafauer faumT ot e daF aut @ e &)
WE | AFYA & IR Fehi W WK T8 T8 3 T a7 T, wAfeh JHrauet fawm =, {a w
THH HTET R FH ITEIEA oI, FRAT TR HH W A Fenfaat s any menen 5t
AR I | ST 32/226 % A WAl il & Haaar s FT alchiers Tad
SUAH & ?

() &fe= g At

(@) HI-aR ATTAH
@M  Re-sAm-demg
@ Re-sfw-afeanzt 1

The residents of P.V. Colony have been paying for civic facilities to Municipal
Department for last three years. During monsoons the roads developed cracks and pit
holes. The residents requested for repair of the roads. However Municipal Department,
which has the responsibility to provide for this ignored all requests of the residents in
spite of continuous reminders. What immediate remedy is available to the residents of
P.V. Colony under Article 32/226 of Indian Constitution ?

(@  Writ of Habeas Corpus
(b)  Writ of Quo-Warranto
()  Writ of Mandamus

(d) Writ of Certiorari

AT % THIT (HIFTFE TH TArST) & TR | (AATAEd H & Hi A1 HA SUGFT Tl & 2
() I€ et oY fasidl &1 Uh g & S STaRsHg IR it Sl G e ¢ |
(@) TR 3o Emi-fatTami 1 U gran qa Sl § S ARy gaH s g

TEIF & |
(M) TE U B & ST T I WORTS, I AT 31T Te] FEA 9 S ¢ |
) % TRt fafere amer § =iaes & & o] R o9 qEa1 § Had € | 1

Which of the following statements does not hold good for “Conflict of Laws” ?
(@ Itisasetof rules and principles that govern interstate interactions.

(b) Its primary objective is to provide for a framework of rules and regulations
which help in fostering international relations.

(c) Itisabody constituted of conventions, model laws, domestic laws of state.

(d) Itinvolves issues like application of Jurisdiction in a particular case.

3 [P.T.O.
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ATeTet fafy Tar @fEfa (TLSC) W |mferd &

(%h)

)

)

(%)

STIAH AT T ~ITETNYT ST 9T AT §RT FEiRG 3T 9RA o WEHEE §RT
TS 37 95

TN THiaeT SToT 1o 3Tee] 9T =0 =Ieid & Yo ~IETEeT o GHe § 59 TR
R Feiid ae=

I Mk ATUHR] T eTd & ®T § q97 3o AT & T =TS §RT
T TWHR & W § FuiRa o7 95

T AT B AR T h T U qYl IT9 I o THM R g’
FIRE 2T T TR gRT TAHd 37T 958

Taluk Legal Services Committee (TLSC) consists of :

(a)

(b)

(©)

(d)

Judge of Supreme Court as the Chairman, and the other members prescribed by
President of India and nominated by the Prime Minister of India.

Senior civil judge as ex officio chairman and other members prescribed by State
Government in consultation with the Chief Justice of High Court.

Senior most judicial officer as ex officio chairman and other member prescribed
by Chief Justice of High Court in consultation with the State Government.

Judge of High Court as the Chairman, and other members prescribed by Chief
Justice of High Court and nominated by State Government.

ey et 1 AR € | 38 $ols & Ueh Tl Ui favafeemed @ LL.B. q0 & feran & |
TE Tel I & TT A U@ AT dORdl § | SR &k w9 § ifdeq 9 & oY 3
fefafad 5 & fohd IR1 AT & 2

(%h)
C)
)
Q)

ST 9 =i (LPC)

NS W 2 &g (LPTC)
AR WA 27 S (BPTC)
AR WHTHA B (BPC)

Smith is a citizen of United Kingdom. He had completed LL.B. from recognized
University of United Kingdom. He wants to practice as a ‘Barrister’ here. In order to
practice as a ‘Barrister’, Smith is required to complete which of the following course ?

(@)
(b)
(©)
(d)

Legal Practice Course (LPC)

Legal Professional Training Course (LPTC)
Bar Professional Training Course (BPTC)
Bar Professional Course (BPC)



6. WS WRA & ANRE ¢ SN A U Tearhe ¢ | § 2000 H 3H TS # e soft
iges ATee g e T | fohq a9 2003 H 38 f5di o =faes At % ug 9
IS § fgar | @9 2009 § 39+ feoett Se9 e | ifeed Uiy & | ad 2011 § gRamon
Ter et oot T SR q9 ¥ 9% USTE q91 RANT ST e H Ugathe % ®9 H digeq
F W@ E | 2015 ® 5% fopg Fgfaa & fow o & 2

(F) HoeT STI AT I AT

(@) ITIAH TR 3T ST 1A ST Sl AT
() e el STt
(F)  hoel STIaH =T T =TT 1

Prakhar, is a citizen of India and a qualified Advocate. In the year 2000, he was
appointed as a Second Class Judicial Magistrate in Rajasthan. But in the year 2003, he
resigned from the post of Second Class Judicial Magistrate. He started practising as an
Advocate in Delhi High Court in the year 2009. In the year 2011, he shifted to
Panchkula located in Haryana and since then he is practising as an advocate in Punjab
and Haryana High Court. In 2015 he is eligible to be appointed as ?

(@ High Court Judge only

(b) Both Supreme Court and High Court Judge
(c) District Judge only

(d) Supreme Court Judge only

7. TEH 9RG W ANNG SR GaE H He € | 98 FEar W et SRR & R HaE 3T
R H 1992 & Feheld Y Tl €, STal 9 Shael AT daR Kl €, b =T § aeq
T&l AT | 8 Tl % Ush 19 ol 9 &, F et ST €

&) IR
(@) W
(M) T
() i 1

Rohan is a citizen of India and a resident of Mumbai. He is qualified Legal
Practitioner and practicing law since 1992, in the Bombay High Court; where he only
prepares the case but do not argue in the Court. He belongs to a separate class of legal
practitioners, known as :

(a) Barristers
(b) Attorneys
(c) Advocates
(d) Solicitors
40/1 5 [P.T.O.
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15 a9 &1 fHfaT 21 Hiest 6 T 10,00,000 § 20 I61T 7k & SO ol T&Hd & T | ¢l
fashl & TH SicsT H IR Jod T 20,00,000 & T | Tk 915 i 7 skt o e o
T TR &Y TS | 98 FRd gU foh a7 raienT € 3R fasht & 9Hg e & g (2TEiee)
% IR § A H U 911 dAfad §, 37 F A 270 fqarg o Huer & faw et Fid o gerw
frge fopan | 5 Uy A Frfofaa 5 @ o @@ g 2

(F) ST TOETE T TEALT HI QAT ST bl & FiTh TS Feel foang geoeedr & forw
T 3T B € |

(@) ST foaTs Sl TeAwdT & foTT &l |iaT ST Feha i Sl o a9 at (Ao,
AT ferehetiTT) ol Heaeerar & & 9 7o 3@l T € |

(M STgeR faarg S qegerdn & folt &l |iar ST ehdl it Ufd (ShraedeM) i Tel ot
3 AT e Y ATee-ua-SHRmET § |

() ST Toag Tt o folT QT ST HehdT & i Huid g Tedl & ol qad
S € |

Nitin, aged 15 years, agreed to sell his cottage for ¥ 10,00,000 to Mayank, aged
20 years. However, the market value of the cottage at the time of sale was ¥ 20,00,000.
Nitin afterwards avoided the agreement of sale by saying that, he is a minor and a case
was also pending before the court regarding the title of the cottage, at the time of sale.
They both appointed Ms. Kriti (a mediator) for the settlement of their dispute. In this

context, which one of the following is correct ?

(@ The above dispute can be referred to a mediator, as contractual disputes are most
suited for mediation.

(b) The above dispute cannot be referred for mediation as case against specific
classes of persons (minors, mentally challenged) have been excluded from the
scope of mediation.

(c) The above dispute cannot be referred for mediation as the consideration was not

adequate and hence contact is void ab initio.

(d) The above dispute can be referred to mediation, as property disputes are most
suited for mediation.



9. ST A1 & SMYHRI off THOT N WANE IH T Wl o o Tl PTAA ek SR & FRT
A T A TE | A TET F [I6gY HiT S TRl Dl TS IR T A F T W A ferw
FHT I oo el (a1 T4 |

U feafa & o ST S & AUPRT BT S AFE € AT RN 2 310 TR % AT HROT H
oot i HIST | 2

Service of Mr. Varun, an officer with Water (Jal) Board was terminated by the
authorities by paying him three months salary. No inquiry was conducted against
Mr. Varun and also the termination order did not assign any reason of his termination.

In the above situation, the action of Water (Jal) Board authority justified or not ? Give
reasons to your answer.

10. YRR HARE HHE W U SH . TAT Sele 6 HURS HHE TS s TS . i T [Fams,
TS i ST & I H o7 | 37 {96 & Ul 7 U THSid % gRT & FAh i ST
Toams gerem & forg e o | S/ AT SRareat oet @ o, St o 3 I 5 Ue .
H F FART TEd USH D1 | Q1 & Sifam FoiT oid gC ot Tk = HEAT a1 et ot §
TR e T STEROT &l {ohaT SR foaTg 1 FviT SToHT 9 9Ron % AR &Y f&an o =/
3o & 3T =/ & |

@) e feafq o ot Forh St fHeRT S UEEH 3R SARAT HiT |

(@) 7 &l T b GRT G 77 (907 Ueli u) STeeh €, Siteh 39 Rl ° A B AT
foet ot o qept 1 SFEROT &l fohat 2 370 3T & folT o ST | 2

There was a dispute between Perry & Jenny Co., an Indian body corporate and Reed
Bros. & Co., a United Kingdom body corporate regarding a contractual obligation.
The parties to the dispute, by way of an agreement, appointed Mr. Clark to resolve
their dispute. While the legal proceedings were going on, Mr. Clark granted some
interim relief to Reed Bros. & Co., also, while taking final decision, Mr. Clark did not
followed the laws or reasoning laid down in earlier decisions, rather decided the
disputes according to his conception of what is fair and just.

(@) Identify and explain the role of Mr. Clark, in the given situation.

(b) Is the decision given by Mr. Clark binding on the parties, as he did not strictly
follow the law or the reasoning of earlier case decisions ? Give reason for your
response.

40/1 7 [P.T.O.



11.

12.

13.

14.

40/1

FHAT FERdT F € 2 fHdr At it ST RIRE w W A & AT 3Tt I UBHR B
fafye Tareti 1 Ieoi@ AT | FEHAT Fe=d TOTelt 5T SO el U Jod 1 Sooid
FHITT |

What is “Legal Aid” ? State the two kinds of Legal Services available to a person for

his grievance redressal. State any one value communicated by the system of Legal
Aid.

3TRIT Ueh T U Fhiet & 3R feoett o el =i § 2002 | Jsheid X @1 § | 3%
g fafy (fhfamet i) & & H forosar ura € | off 3ifea, STt etdietshal €, § IR & I=aaq
e | ST (TshiHeer) o fotT T S mfa SR & foTT ot ST &t 319 vearhe Fge
fepam | g\ I & SAUHIET 7 ST BT TAT FA T SFATT TS el Bl |

M ot SR UH AT W gt I 3R ST fafy & e § 3% @ IHeRt
TorerorraT o off, R off 3¢ fhfer 3TdieT SRR e ot 3TATd U 1 T8l 3t 1€ 2

Anuraag is a qualified Lawyer practicing since 2002 in various District Courts of
Delhi. He is having special knowledge and expertise in the field of Criminal Law.
Mr. Ankit (appellant) appointed Mr. Anuraag as his advocate to file a Special Leave to
Appeal (Criminal) before the Supreme Court of India. Mr. Anuraag was not allowed
by to do so by the filing authorities of the Supreme Court.

Why was Mr. Anuraag not allowed to file the Special Leave to Appeal (Criminal),
even though he is a qualified lawyer having expertise and experience in the field of
Criminal Law ?

fordl forame =t oifeh 3TETeTd &l el |IUT ST Tehal & 9 olich 3TETeAdl o [hwel &f 3TehR] ol
Il HIT |

When can a dispute be referred to Lok Adalat ? State any two powers of Lok Adalats.

FT I, | 47 F AT HT A T {oa1g 3= &1 T | faars & uell 7 U i aee usy
fir, &1, 1 fae Gorem & fere Frger fopam | 7. 33 3 Faene froe i & ue aifnaes w5t
it 1T T 3T ST & Uel o {qa1g 1 &1 gahl Sl Teradl i WX higa o1 fohq
T HIT FIERT X I | TG E | [qat el 3 3qeh a5 3701 foag a1 s & forw Ised
SATHTESY AT Ush T ¥ HUeh o | AT SATTeaie e 3 foreftar sieRor o fergiot f1. S
T 3T foaTg &et A & forw Tga fopam |

I i § JF UER o Shiode [gaTs FUeH a7 (3TeedHicd [eae {SiogeH HepsH) i

3ooRg HINT |




A dispute arose between Kerry & Claire Co., a Netherland based Cosmetic Co. and
Star Heaven Co, an Indian cosmetic company regarding money transactions. The
parties to the dispute appointed Mr. Harry, a neutral third party, for settlement for their
dispute. Mr. Harry acted as a guardian of the dispute resolution process and was
focused on helping the parties to find solution to their dispute but failed to bring the
parties to settlement. The disputing parties then approached an institution named
Roger’s Organisation for the settlement of their dispute. The Roger’s Organisation
appointed Mr. Jeff (Financial Transactions expert) to resolve the said dispute.

State the two types of Alternate Dispute Resolution Mechanism in the above situation.

15. ek YARIEIOT St Vo] TRl hi WX i 3T &I IIRATST i IRl sl GRa 3
YT Sl S D F H TETT Bl € 2 4

How power of Judicial Review helps judiciary to safeguard and to ensure the
separation of powers of the other two branches of the government in India ?

16. 3 TS I Hisls 3R IXa H e Reell sal & 7 AR & 9K § U 9y of | 39 9y
T AT I T FH F IR H T 390 H U foa1g 93T & T | 1946 T AiSote T T
H I I T ST aRA I AL H TG Tl & | WS T AT Gl areaana
T ¥ TR X 61 | 399 e gl aRa 3 foarg Huer & for siawde = 9
Hues T |
() T AN AL AT ST Fhell € 2 AfS &1, df TgerT A 90 & [ Wreem
&% A 2

@) AR AT o 1 & i T HISTT | 4

There was a treaty between two neighbouring countries ‘Sodoland’ and ‘Borway’, to
stop the killing of Olive Ridly Turtle. A dispute arose between them regarding
fulfilment of certain terms and conditions of this treaty obligation. Sodoland became
member of United Nations in the year 1946 whereas Borway is not a member of
United Nations. Sodoland refused to fulfil its treaty obligations. Aggrieved by this,
Borway approached International Court of Justice to resolve this dispute.

(@ Can Borway approach International Court of Justice ? If yes, under which
provision of United Nations charter ?

(b) Explain the jurisdiction of International Court of Justice.

40/1 9 [P.T.O.
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18.

19.

20.

40/1

Tafes Tam IS B § 5T TIHR & SUEIIT P T3 |

() T AIHIOT ) G ¢ 2

(@) ST SIFHIT % [Fel IR ATl T Soe1d FITT |

With regards to the responsibility of the State Government to provide legal aid service;
(@ What is the composition of state authority ?

(b) State any four functions of the state authority.

“Teh W Wid GROT IE € Toh STa 3T0RTY Bt &1 &1l Tt (Hifed) 3 ET (F29M) U &
YROT (D) T I”

STFT FoH W TUR FINT T YESH q91 W & Ggid e 58 A & gy |
FIT | T & AT H Teh 3 hT Sooi@ i i |

“A common misconception is that motive and intention are same concepts when it
comes to crime.”

Consider the statement given above and explain the concept of ‘Intention’ and a
‘Motive’ in terms of criminal law. Also give one difference between these two.

“1976 & 429 WINEA ATUFEH 7 ARA™ =AU o =ATAMEHOT 6T T IR Tz 17
ZRAT HIT |

“42" Amendment Act, 1976 ushered the era of tribunalisation in Indian Judiciary.”
Explain.

26-11-2015 I X a8 1 o1 I A Hl HIRS TOREIN FFA  HeRE halel 3
3AITHTESS ShTeH TS (FhIshT), 1999 % Td Jferd = fIRUaR fham | 39 28.11.2015 T S17eT
T 1 T A % WA 99 FRAT T | 59 A% it S e H T 9 39 S0 gt 9
RES T A & T | St § IR Gl & STeE 226 % S 39 MUR W
Frfereht i TTeT St o SR 22 T UG 3 HifeTsh SATHR i &7 §aT & |

(F) IR G % ST 22 % W Hl 3eoid BT |
(@) 7 SAHRT () I HRATE H =G & 2 370 3T H HRON H Sooid HitoT |
(M) T 22 TR U Tl Tk g 1 Seoi@ HIvY |
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Babulal was arrested and detained by police authorities on 26-11-2015 at 1 p.m., under
the preventive detention law MACOCA (Maharashtra Control of Organised Crime
Act, 1999). He was produced before the magistrate on 28-11-2015 at 1 p.m. He was
not allowed to consult his lawyer during the period of detention in police custody
Babulal applied for writ under Article 226 of the Indian Constitution on the ground

that his fundamental right under Article 22 has been violated.
(@) State the provisions of Article 22 of the Indian Constitution.

(b) Are the authorities (police) justified in their action ? Give reasons for your

answer.

(c) State any one value communicated by the provisions of Article 22.

21, SIAWIEE A P EE HEAT H SFMBR HA F [T Fels (I F,) TR & g &
ST AT & | 9T H IR Waee= | 91 T AF] g arelt WY Sreaansti s @n] & &
e ¥ |
(F) TR g (SifaeT 31t SEHhHTE) 3R 39 TN i IR HifeTy |
@) ol g1 Tl 59 s % G0 § ol Wi &l o] o & 9R § SR SaeE &

AT T Seeid i | 5

For adoption of International Treaties into domestic law United Kingdom (UK)
follows the ‘Doctrine of Transformation’. In India the constitution has the provision

for implementation of treaty obligation applicable to the country.
(@) Explain the Doctrine of Transformation and its application.
(b) State the Indian constitution provision for the implementation of a treaty with

reference of any two decided case laws.

40/1 11 [P.T.O.
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23.
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T &) 72 ferfaal w femm ST 3T fgu T g & S fofen

(h)

)

)

(=)

TerTT BT T &1 T % 32T ¥ 3 W USH Al h 7% Hehell & 31X 8T R 75
foem @ a7 faT 221 o o SROT SEeh! {9 59 ST € |

e STHeET SR 310 Rl Wa & Uxedl Hitel W Rerd HeR T H IR H 6%
HT AT & R TRAT ST € foh o8 T T |

et 5 HHH T ST Bl Uk Tl SFRIY ST SR STHal 3 36 SRR Y 5
Hifeh 3T B Tel A | T 1% Fiieel 3T ST F¥T WS o1 3 B A T |

39 Tl 1 U TR UH HSEH @ T | 39 99E & U ofgdh T A arof A1 s
TS TG % FF el SH! A & {oF1 i ST 321 & T H o 3R a5 | for
ITH! A P 37 Il D HHIH Dl ZEH T8 H IR Y {32 |

() TR TE Feiqat § STt 3 UgaT TE &1 (SS9 2I0) B Ued HifeT |

(i) W U (i) ¥ TEEE T SHGE X UgArs T &fd % el 8 R @ W
HIT |

Consider the given situations and answer the questions that follows :

(@)

(b)

(©)

(d)

Chirag intending to harm Harshit throws an iron ball at Harshit and misses his
head as Harshit moves his head away from the direction of the iron ball.

Nimit intentionally locks Garima in a store room on 15" floor of their office
building and Garima knows that she is trapped.

Sahil sent a friend request to Jhanvi on Facebook and Jhanvi reject his friend
request as she was not interested. Later on Sahil started sending her unwanted
messages and phone calls.

Group of 10 friends visited a museum. One of the boy named Gagan (of this
group) clicked few photographs of a girl named Vaani (of this group) without
her consent and later on posted those photographs on his Facebook timeline
without her permission.

(i) ldentify the type of intentional tort in situations given above.

(i)  Explain any two types of intentional tort identified above in part (i) of the
question.

IR 3R Treie (F.%.) H fafees frenm @ Fafua f=mi & o it |

Compare the rules regarding Legal Education in India and The United Kingdom.

12



24, fAfefad ferfda ™ foar SINT ik $ROT 30 g7 T DT 6 IR S & =g
20 & AT 5T TT Hifetd STDHR 1 & g3t & A1 &

(@) e § Fuft TR % RIT H Aftd W R =t T SR O g | 9% S
T & SUR W AT I Sohell BT AT <A T |

@) FfEA W U GHS G i e BT SARIT AT T | G B S o IR AT B
FT UL B G T I | 3T ST U BT IR I F TR F QAT | FM T 30T
THT % (o065 I 37 & foIT areg & 2 5

Consider the following situations and explain by giving reasons, whether any
fundamental rights has been violated or not under Article 20 of the Indian Constitution.

(@) Arpit was charged and convicted of theft of property from Sachin. Arpit was
subsequently charged and tried for robbery on the same facts.

(b) Nandini was charged with the offence of murder of a Member of Parliament
(M.P.). During the police investigation, a list of questions was provided to
Nandini. She refused to answer those questions. Is she bound to answer, against
her wishes ?

25. I, ST SSHTE T Uh To=edl o, g e YRS ST i U Uit o fot dueh foar it

3T =l UgTE o o0 &, 0. 3T0ReR H U favafoemera & yayr oF § STt Savaeharet & fd

H | I TH A FIT A WA @ o G0, 3mies & forw uemm fven | Sta 9 9.3

ST TE o 3 AT Tl fo S wifer 39 g1y H & 9% =9 ¢ it 39 fovataeed gr

I U F&l € | O e SvANd HUAH $9aRE dierdl H oee % [ I8 Heweyel

SR BT foh 3! diferel i foaen  AI=rer ure =@ ¢ |

() IR H AU (STEHH) H Tga DI 3R TARY T Sk & Heifted forepraar
il S A IR I T B |

(@) o TY TG AHI (FAEEEH) F U ST Gehell & s G o5 T9aRg Ul Teh
TTEde T € 2 310 ST | A JI |

(M) olRuTe (STagEa) faarg TamE ot e fafyr 1 ST eEReT 3T 2

() 9RA § SR (STNEEHE) Sl Th A 3R Teh FHT A Sooid I | 6
40/1 13 [P.T.O.
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27.
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Yashu, a student from Chandigarh, had approached Moon Life Insurance Company to
get a policy that catered to the requirements of his admission to a University in U.S.A.
for further studies. He paid a premium amount of ¥ 1 lakh and left for U.S.A. On
reaching U.S.A., he realized that the policy that he is holding in his hands is worthless,
as it is not recognized by the University. Moon Life Insurance Company in spirit of
selling an insurance policy withheld crucial information that their policy is not valid
overseas.

(@ Identify the ‘Ombudsman’ with in India to investigate and resolve complaints
related to Insurance and banking.

(b) Can Yashu approach this ombudsman as Moon Life Insurance is a private
company ? Give reasons for your answer.

(c) What method of dispute resolution is followed by the Ombudsman ?

(d) Give one advantage and one limitation of an ombudsman in India.

UL IFgiad Sfd T SFHSIia T[T & fskar, whrr iR frema fFarer d5 @t
THEE |

Explain the powers, functions and complaint mechanism of National Commission for
Scheduled Castes and Scheduled Tribes.

AN J IRAT §€ Fiedl 9N 304B (385 Jg) o iqd Uk TRy fRar fad fore
fuifta e & U 9w dim & fow e, S 91T Qe @ w9 T @l fohg SAstie HRer q%
TS ST Tohell & |

(@) U fefd o SR qehsT & UK St Uge HiteT |
(@) W UM T SRS THIH o YR & [T =0T i e HifT |

Ratan Singh committed an offence u/s 304 B (Dowry Death) of Indian Penal Code for
which the prescribed punishment is imprisonment for a term, which shall not be less
than seven years but may extend to imprisonment for life.

(@ Identify the type of Criminal Trial in the above mentioned situation.

(b) Explain the various stages of criminal trial identified above.
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28.

29.

40/1

"SI IS AR TSAlhe ST &, A STHT 0 AN § FeR T i Hami | b
2T ¥, o Ugaihe % 9 | 3T SR W AR fafus aRug & samefas ifqere &
faery Frami o =T g g 17

TGS FHIA F SAH § FTerEd & 3 QAT
(®) YR fafas aRus gRT (i s tedishe & Haed 3R STRETa
(@) AT U9ERT % R faeaT & 9R § 9Rdig fafs aRkeg grr feiRa e

‘When a person becomes an advocate his relation with people in general is governed
by the general rules of law but his conduct as an advocate is governed by the special

rules of professional ethics of Bar Council of India.’
In the light of the above statement, answer the following :

(@) Duties and Responsibilities of an advocate, as laid down by the Bar Council of
India.

(b) Rules regarding advertisement by Legal Professionals, as laid down by the Bar

Council of India.

Tordl! TewTeRid ITe = WaH e | Al G A Ueh I Sed & foteg arraeht
TR H | T8 G faselt AT Mg o % o aRd s 39 6 B H ol ot | g8
3R T T fof TS o &t 37T | WA W o 9IRdIF gedi &l ¥ &rd 39 0 gqant
TS T el S H TRl A1 o AG o St < off ST aF 3% 39T a1 Ted & folw =%
off &1 IUCTeY FRT ST W & 3 M FoTh o 3(ed @t 7 g+ ¥ Nardt 2 avargha s
AW S | TE o IR o1 T T ATHISTS T $9 3 Wiessh SIS o 9 T 3Tarad
HHT H Gt off |

(F) T HIE AT AT TS 3T A Bt 3R G FAH AT o GHeT ST bl © 1 &
™ e ST | 999 7 8 2 IS “g”, O 39 YR H =AM AlhIdT Pl Jga 31T
AT T |

(@) TT UHR % AT AlHAdT (SR Uaiiaed) i hd A1fad (aieh) T ST Fehdl & 2
(M) 39 U ! Mg Gishaal i & faeivan fefaw |
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30.

40/1

One Lakshmi Kant Pandey filed a petition in the Apex Court against a social
organization named ‘Nanhi Khushiyaan’. The organization was engaged in offering
Indian children in adoption to foreign parents. It was alleged that in the guise of
adoption Indian children of tender age were not only exposed to the long dreadful
journey to distant foreign countries at great risk to their lives but in case they survive
they were not provided any shelter and relief homes and in course of time they become
beggars or prostitutes for want of proper care. It was also alleged that this social

organization is indulged in these malpractices with few other voluntary agencies.

(@) Can any person / organization approach the Apex Court on behalf of a group of
persons who are unable to approach the court for relief ?

If yes, identify and explain this kind of Judicial Activism.
(b) How can this kind of judicial activism be invoked ?

(c) State any two characteristics of this kind of judicial activism.

AT AT A fafes ot WM A & o FsE Ay, o AT 3T e
ATTeRTT ot T () SUeTed s & foTT Ra | 7 War fohw 7§ 2

What provisions have been made in India to provide funds to the Central Authority,

State Authority and District Authority for providing Legal Services to its citizens ?
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